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ra
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=
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=
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⇥
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⇢
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b
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⇢
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m
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=
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=
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r
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:
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P
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:
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!
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=

(p
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.
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at
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b
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=
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=
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ra
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b.
D

ét
ai

llo
ns

P
(A

)
en

ut
ili

sa
nt

le
s

no
ta

ti
on

s
pr

éc
éd

en
te

s.

P
(A

)
=

{
?

,
{a

1
},

{a
2
},

{a
3
},

{a
1
,a

2
},

{a
1
,a

3
},
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}
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=
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?
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at
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b
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p
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.
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b
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[
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b
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ct
iv

e
et

dé
m

on
tr

on
s

qu
e

f
:
E
!

F
es

t
in

je
ct

iv
e.

So
it

(x
1
,x

2
)
2

E
2

te
lq

ue
f
(x

1
)

=
f
(x

2
).

O
n

a
al

or
s

:g
(f

(x
1
))

=
g
(f

(x
2
))

.
(é

ga
lit

é
ob

te
nu

e
en

co
m

po
sa

nt
ch

aq
ue

m
em

br
e

de
l’é

ga
lit

é
pr

éc
éd

en
te

pa
r

g
)

A
ut

re
m

en
t

di
t

:g
�f

(x
1
)

=
g
�f

(x
2
).

O
r,

co
m

m
e

g
�f

es
t

in
je

ct
iv

e,
on

en
dé

du
it

qu
e

:x
1

=
x

2
.

A
in

si
f

es
t

in
je

ct
iv

e.
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I.
3.

d
)

P
ro

p
ri

ét
és

co
m

b
in

an
t

le
s

op
ér

at
eu

rs
d
e

ré
u
n
io

n
,
in

te
rs

ec
-

ti
on

et
p
as

sa
ge

au
co

m
p
lé

m
en

ta
ir

e

P
ro

p
ri

ét
és

lia
nt
[,
\

et
pa

ss
ag

e
au

co
m

pl
ém

en
ta

ir
e

So
ie

nt
A

,B
et

C
de

s
pa

rt
ie

s
d’

un
en

se
m

bl
e

E
.

•
A
\

(B
[

C
)

=
(A
\

B
)
[

(A
\

C
)

(l
a

lo
i
\

es
t
di

st
ri

bu
ti
ve

pa
r

ra
pp

or
t
à

la
lo

i
[)

•
A
[

(B
\

C
)

=
(A
[

B
)
\

(A
[

C
)

(l
a

lo
i
[

es
t
di

st
ri

bu
ti
ve

pa
r

ra
pp

or
t
à

la
lo

i
\)

•
(A
\

B
)

=
A
[

B
et

(A
[

B
)

=
A
\

B

(l
oi

s
de

de
M

or
ga

n)

•
A
[

A
=

E
et

A
\

A
=
?

R
em

ar
qu

e
•

La
dé

fin
it

io
n

de
s

op
ér

at
eu

rs
en

se
m

bl
is

te
s
fa

it
ap

pa
ra

ît
re

un
lie

n
fo

rt
en

tr
e

ce
ux

-c
ie

t
le

s
co

nn
ec

te
ur

s
lo

gi
qu

es
us

ue
ls

.M
et

to
ns

en
av

an
t

ce
s

lie
ns

.

E
T

(n
ot

é
au

ss
i
^)

 
!
\

O
U

(n
ot

é
au

ss
i
_)

 
!
[

N
O
N
(a

)(
no

té
au

ss
i
ā
)
 
!

Ā
⇢

 
!
)

=
 
!
,

?
 
!

f
a
u
x

E
 
!

v
ra

i

•
C

e
di

ct
io

nn
ai

re
pe

rm
et

de
tr

ad
ui

re
le

s
pr

op
ri

ét
és

én
on

cé
s

au
-d

es
su

s
en

de
s

pr
op

os
it

io
ns

lo
gi

qu
es

.O
n

re
tr

ou
ve

no
ta

m
m

en
t

le
s

lo
is

de
de

M
or

ga
n

én
on

cé
es

da
ns

le
C

H
I.

•
Il

es
t

à
no

te
r

qu
e

l’i
nc

lu
si

on
se

tr
ad

ui
t

pa
r

un
e

im
pl

ic
at

io
n.

C
ec

ip
ro

vi
en

t
du

fa
it

qu
e

:

A
⇢

B
,

(8
x
2

E
,

(x
2

A
)
)

(x
2

B
))
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P
rop

riété
Soient

E
et

F
deux

ensem
bles.

Soit
f

:
E
!

F
une

application.

f
injective

,
T
out

élém
ent

y
2

F
adm

et
au

plus
un

antécédent
par

f

D
ém

onstration.
O

n
raisonne

par
double

im
plication.

()
)

Supposons
par

l’absurde
que

f
est

injective
et

qu’il
existe

un
élém

ent
y
2

F
adm

ettant
strictem

ent
plus

d’un
antécédent

par
f.

A
lors

ilexiste
(x

1 ,x
2 )2

E
2

telque
x

1 6=
x

2
et

f
(x

1 )
=

y
=

f
(x

2 ).
C

ecicontredit
l’injectivité

de
f.

((
)

Supposons
que

tout
élém

ent
y
2

F
adm

et
au

plus
un

antécédent
par

f.
Soit

(x
1 ,x

2 )2
E

2
telque

x
1 6=

x
2 .N

otons
y
1

=
f
(x

1 )
et

y
2

=
f
(x

2 ).
A

lors
on

a
forcém

ent
y
1 6=

y
2

car
sinon

y
1

posséderait
deux

antécédents
distincts

x
1

et
x

2 .

D
ém

ontrer
qu

’u
n
e

ap
p
lication

est
in

jective
O

n
peut

utiliser
la

définition
équivalente,

stipulant
qu’une

application
est

injective
siet

seulem
ent

si:

8
(x

1 ,x
2 )2

E
2,

f
(x

1 )
=

f
(x

2 ))
x

1
=

x
2

C
ette

définition
est

l’écriture
contraposée

de
la

définition
initiale.

(on
a

m
êm

e
:
f
(x

1 )
=

f
(x

2 ),
x

1
=

x
2 )

Démontrons
que

f
:
E
!

F
injective.

Soit
(x

1 ,x
2 )2

E
2.

On
suppose

que
f
(x

1 )
=

f
(x

2 ).
...dém

onstration
...
Alors

x
1

=
x

2 .
On

a
donc

démontré
que

f
est

injective.
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I.3.e)
P
artition

d
’u

n
en

sem
b
le

E

D
éfi

n
ition

Soit
I
⇢

N
et

(A
i )

i2
I

une
fam

ille
de

parties
d’un

ensem
ble

E
.

•
O

n
dit

que
la

fam
ille

(A
i )

i2
I

est
une

p
artition

de
l’ensem

ble
E

si
les

propriétés
suivantes

sont
vérifiées

:

(i)
8
i2

I
,

A
i 6=

?
,

(ii)
8
(i,j)2

I⇥
I
,

i6=
j
)

A
i \

A
j

=
?

,
(les

ensem
bles

sont
deux

à
deux

disjoints)

(iii)
E

=
Si2

I

A
i .

R
ep

résentation
grap

h
iqu

e.
Soit

(A
i )

i2J1
,7K

une
fam

ille
de

parties
d’un

ensem
ble

E
.

A
1

A
2

A
3

A
4

A
5

A
6

A
7

EP
artition

de
l’ensem

ble
E

E
=

7Si=
1
A

i

R
em

arqu
e

La
notion

de
partition

est
à

rapprocher
de

celle
de

puzzle.
Les

pièces
sont

les
ensem

bles
A

i
de

la
partition.P

osées
les

unes
à

côté
des

autres,ces
pièces

form
ent

l’im
age

à
reconstituer

i.e.
l’ensem

ble
E

.
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II
.4

.
C

ar
ac

tè
re

in
je

ct
if
,
su

rj
ec

ti
f,

b
ij
ec

ti
f
d
es

ap
p
li
ca

ti
on

s

II
.4

.a
)

In
je

ct
iv

it
é

D
éfi

n
it

io
n

So
ie

nt
E

et
F

de
ux

en
se

m
bl

es
.

•
U

ne
ap

pl
ic

at
io

n
f

:
E
!

F
es

t
in

je
ct

iv
e

si
to

ut
co

up
le

d’
él

ém
en

ts
di

s-
ti

nc
ts

de
E

fo
ur

ni
t

de
ux

im
ag

es
di

st
in

ct
es

pa
r

f
.

8(
x

1
,x

2
)
2

E
2
,

x
1
6=

x
2
)

f
(x

1
)
6=

f
(x

2
)

R
ep

ré
se

nt
at

io
n

gr
ap

h
iq

u
e.

So
ie

nt
E

,F
de

s
en

se
m

bl
es

et
f

:
E
!

F
un

e
ap

pl
ic

at
io

n.

x
1

x
2

x
3

x
4

y 1

y 2
y 3

y 4

y 5

E
F

f

E
xe

m
p
le

d’
ap

pl
ic

at
io

n
in

je
ct

iv
e

et
no

n
in

je
ct

iv
e.

1)
L’

ap
pl

ic
at

io
n

f
:

R
!

R
x
7!

x
es

t
in

je
ct

iv
e.

E
n

eff
et

,
si

x
1

et
x

2
so

nt
de

ux
él

ém
en

ts
de

E
te

ls
qu

e
x

1
6=

x
2
,

al
or

s
f
(x

1
)

=
x

1
6=

x
2

=
f
(x

2
).

2)
L’

ap
pl

ic
at

io
n

g
:

R
!

R
x
7!

x
2

es
t

no
n

in
je

ct
iv

e.

E
n

eff
et

,�
1
6=

1
et

g
(�

1)
=

1
=

g
(1

).

3)
P
ar

co
nt

re
,g

R
+

es
t

bi
en

in
je

ct
iv

e.
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N
ot

at
io

n
La

no
ta

ti
on

S i2
I

A
i
dé

si
gn

e
l’
en

se
m

b
le

de
s

él
ém

en
ts

qu
is

on
t
da

ns
au

m
oi

ns

un
de

s
A

i,
po

ur
i
2

I
.P

lu
s

pr
éc

is
ém

en
t

:

•
n S i=
1
A

i
=

A
1
[

..
.
[

A
n

=
{x
2

E
|9

i
2

J1
,n

K,
x
2

A
i}

•
+
1 S i=
1

A
i

=
{x
2

E
|9

i
2

N
⇤ ,

x
2

A
i}

•
D

e
m

an
iè

re
gé

né
ra

le
:
S i2

I

A
i
=

{x
2

E
|9

i
2

I
,

x
2

A
i}

I.
3.

f)
D

iff
ér

en
ce

en
se

m
b
li
st

e
d
e

p
ar

ti
es

d
e

E

D
éfi

n
it

io
n

So
ie

nt
A

,B
de

s
pa

rt
ie

s
d’

un
en

se
m

bl
e

E
.

•
O

n
ap

pe
lle

d
iff

ér
en

ce
en

se
m

b
li
st

e
de

A
et

B
et

on
no

te
A

\B
l’e

ns
em

bl
e

su
iv

an
t.

A
\B

=
{x
2

E
|(

x
2

A
)
E
T

(x
/2

B
)}

=
A
\

—
E

B

R
ep

ré
se

nt
at

io
n

gr
ap

h
iq

u
e.

So
ie

nt
A

et
B

de
ux

pa
rt

ie
s

d’
un

en
se

m
bl

e
E

.

A

B

E

A
\B
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Les
applications

g�
g,

g�
f,

f
�

f,
f
�

g
sont

données
par

:

x
1

2
3

4
5

6
7

8
9

g�
g
(x

)
1

2
3

4
5

6
7

8
9

x
1

2
3

4
5

6
7

8
9

g�
f
(x

)
6

4
3

8
9

7
5

1
2

x
1

2
3

4
5

6
7

8
9

f
�

f
(x

)
3

8
5

1
2

7
9

6
4

x
1

2
3

4
5

6
7

8
9

f
�

g
(x

)
6

4
5

8
9

3
7

1
2

P
rop

riété

Soient
E

et
F

deux
ensem

bles
et

f
:
E
!

F
une

application.

f
�

id
E

=
f

id
F
�

f
=

f

P
rop

riété

Soient
E

,
F

,
G

trois
ensem

bles.

Soit
f

:
E
!

F
une

application.

Soit
g

:
F
!

G
une

application.

Soit
h

:
G
!

H
une

application.

O
n

a
alors

:
h
�

(g�
f
)

=
(h
�

g
)�

f

(la
loi�

est
associative)

R
em

arqu
e

A
vec

les
notations

précédentes,on
a

:

•
h
�

g
:
F
!

H
,

•
g�

f
:
E
!

G
,

•
h
�

g�
f

:
E
!

H
.

(la
notation

h
�

g�
f

est
autorisée

du
fait

de
l’associativité

de
la

loi�)
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P
rop

riété
Soit

E
un

ensem
ble

et
A

une
partie

de
E

.

—
E

A
=

E
\

A

I.4.
P

rod
u
it

cartésien
d
e

d
eu

x
en

sem
b
les

D
éfi

n
ition

Soient
E

et
F

deux
ensem

bles.

•
Le

p
rod

u
it

cartésien
de

E
et

F
,noté

E
⇥

F
,est

l’ensem
ble

des
couples

(x
,y

)
avec

x
élém

ent
de

E
et

y
élém

ent
de

F
.

E
⇥

F
=

{(x
,y

)|
x
2

E
,y
2

F
}

•
A

insi,toutélém
ent

u
de

l’ensem
ble

E
⇥

F
s’écritsousla

form
e

u
=

(u
1 ,u

2 )
avec

u
1 2

E
et

u
2 2

F
.

R
em

arqu
e

•
O

n
a

utilisé
dans

cette
définition

la
notion

intuitive
de

couple.U
n

couple
est

une
paire

ord
on

n
ée

d’élém
ents.A

insile
couple

(x
,y

)
ne

doit
pas

être
confondu

avec
(y

,x
).P

lus
précisém

ent,on
a

:

(x
1 ,y

1 )
=

(x
2 ,y

2 )
,

(x
1

=
x

2
E
T

y
1

=
y
2 )

•
Lorsque

E
=

F
,on

note
E
⇥

E
ou

tout
sim

plem
ent

E
2.

A
insi,on

écrira
sans

distinction
R
⇥

R
ou

R
2.

•
C

ette
définition

se
généralise

à
n

ensem
bles.

L’ensem
ble

E
1 ⇥

E
2 ⇥

...⇥
E

n
est

constitué
des

n-uplets
(x

1 ,...,x
n
)

où
chaque

x
i 2

E
i .

D
ans

le
cas

où
E

1
=

...
=

E
n ,on

écritsans
distinction

E
n

ou
E
⇥

...⇥
E

.
E

n
particulier

:R
n

=
R
⇥

···⇥
R

.
•

Si
E

a
p

élém
ents

et
F

a
q

élém
ents,l’ensem

ble
E
⇥

F
com

pte
p
q

élém
ents.16
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6

�
La

lo
i�

n’
es

t
pa

s
co

m
m

u
ta

ti
ve

.
C

ec
is

ig
ni

fie
qu

e,
de

m
an

iè
re

gé
né

ra
le

,f
�g
6=

g
�f

.
D

eu
x

ra
is

on
s

po
ss

ib
le

s
à

ce
la

.

1)
D

’a
pr

ès
la

re
m

ar
qu

e
pr

éc
éd

en
te

,g
�f

pe
ut

-ê
tr

e
dé

fin
ie

sa
ns

qu
e

f
�g

le
so

it
(e

t
in

ve
rs

em
en

t)
.

2)
M

êm
e

si
f
�g

et
g
�f

so
nt

bi
en

dé
fin

ie
s

(c
’e

st
pa

r
ex

em
pl

e
le

ca
s

lo
rs

qu
e

E
=

F
=

G
),

le
s

ap
pl

ic
at

io
ns

f
�g

et
g
�f

so
nt

gé
né

ra
le

m
en

t
di

ffé
re

nt
es

.

E
xe

m
p
le

C
on

si
dé

ro
ns

le
s

ap
pl

ic
at

io
ns

su
iv

an
te

s
:

f
:

R
!

R
x
7!

x
+

1
et

g
:

R
!

R
x
7!

x
2

Le
s

ap
pl

ic
at

io
ns

f
�g

et
g
�f

so
nt

bi
en

dé
fin

ie
s.

T
ou

te
fo

is
,o

n
a

:

(f
�g

)(
x
)

=
f
(g

(x
))

=
f
(x

2
)

=
x

2
+

1

(g
�f

)(
x
)

=
g
(f

(x
))

=
g
(x

+
1)

=
(x

+
1)

2

Le
s

de
ux

ap
pl

ic
at

io
ns

f
�g

et
g
�f

so
nt

di
ffé

re
nt

es
.

E
xe

rc
ic

e
O

n
co

ns
id

èr
e

le
s

de
ux

ap
pl

ic
at

io
ns

f
et

g
de

J1
,9

Kd
an

s
lu

i-m
êm

e
dé

fin
ie

s
pa

r
le

ur
s

ta
bl

es
de

va
le

ur
s

:

x
1

2
3

4
5

6
7

8
9

f
(x

)
6

4
7

8
9

3
5

1
2

x
1

2
3

4
5

6
7

8
9

g
(x

)
1

2
7

4
5

6
3

8
9

R
ep

ré
se

nt
er

de
la

m
êm

e
fa

ço
n

le
s

ap
pl

ic
at

io
ns

g
�g

,g
�f

,f
�f

,f
�g

.
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E
xe

rc
ic

e

So
ie

nt
E

et
F

de
ux

en
se

m
bl

es
.

So
ie

nt
A

un
e

pa
rt

ie
de

E
(A
⇢

E
)
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B

un
e

pa
rt

ie
de

F
(B
⇢

F
).

M
on

tr
er

qu
e

:A
⇥

B
⇢

E
⇥

F
.

D
ém

on
st

ra
ti
on

.
So

it
u
2

A
⇥

B
.

C
el

a
si

gn
ifi

e
qu

’il
ex

is
te

u
1
2

A
et

u
2
2

B
te

ls
qu

e
u

=
(u

1
,u

2
).

•
C

om
m

e
u

1
2

A
et

A
⇢

E
,o

n
en

dé
du

it
qu

e
u

1
2

E
.

•
C

om
m

e
u

2
2

B
et

B
⇢

F
,o

n
en

dé
du

it
qu

e
u

2
2

F
.

A
in

si
,o

n
a

u
=

(u
1
,u

2
)
2

E
⇥

F
.
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II.3.
C

om
p
osée

d
e

d
eu

x
ap

p
lication

s

D
éfi

n
ition

Soient
E

,
F

et
G

trois
ensem

bles.

Soit
f

:
E
!

F
une

application.

Soit
g

:
F
!

G
une

application.

•
La

com
p
osée

de
f

par
g,notée

g�
f,est

l’application
:

g�
f

:
E
!

G
x
7!

g
(f

(x
))

•
A

utrem
ent

dit,on
a

:
8
x
2

E
,

(g�
f
)(x

)
=

g
(f

(x
))

R
ep

résentation
grap

h
iqu

e.
Soient

E
,
F

et
G

des
ensem

bles
et

f
:
E
!

F
,
g

:
F
!

G
des

applications.

x
1

x
2

x
3

x
4

y
1

y
2

y
3y

4

y
5

z
1

z
2

z
3

z
4

z
5

z
6

z
7

E
F

G
f

g

R
em

arqu
e

Les
ensem

bles
de

départ
et

d’arrivée
des

applications
f

:
E
!

F
et

g
:
F
!

G
ont

un
rôle

crucialpour
la

bonne
définition

de
g�

f.P
lus

précisém
ent

:

g�
f

est
bien

définie
,

f
(E

)⇢
F
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II.
A

pplications

II.1.
N

otion
d
’ap

p
lication

D
éfi

n
ition

Soient
E

et
F

deux
ensem

bles.
U

ne
ap

p
lication

f
de

E
dans

F
(notée

f
:
E
!

F
)
est

un
procédé

perm
et-

tant
d’associer

à
chaque

élém
ent

x
de

l’ensem
ble

E
,un

et
un

seulélém
ent

y
de

l’ensem
ble

F
.

•
L’élém

ent
y

de
cette

définition
est

alors
appelé

l’im
age

de
x

par
l’appli-

cation
f

et
est

noté
y

=
f
(x

).

•
E

s’appelle
l’en

sem
b
le

d
e

d
ép

art
de

l’application.

•
F

s’appelle
l’en

sem
b
le

d
’arrivée

de
l’application.

•
Si

y
2

F
,deux

cas
se

présentent.

⇥
Soit

ilexiste
au

m
oins

un
élém

ent
x

de
E

dont
y

est
l’im

age.
O

n
dit

dans
ce

cas
que

x
est

un
antécéd

ent
de

y
par

f.
⇥

Soit
y

n’adm
et

pas
d’antécédent

par
l’application

f.

•
O

n
appelle

im
age

de
f

et
on

note
Im

f,l’ensem
ble

des
élém

ents
y

de
F

quiadm
ettent

des
antécédents

par
f.

Im
f

=
{y
2

F
|9

x
2

E
,y

=
f
(x

)}

•
P
ar

définition,on
a

toujours
Im

f
⇢

F
m

ais
pas

forcém
ent

égalité.

•
O

n
noteA

(E
,F

)
l’ensem

ble
des

applications
de

E
dans

F
.

•
E

nfin,
si

E
=

F
,

l’application
qui

à
chaque

x
élém

ent
de

E
associe

ce
m

êm
e

élém
ent

x
est

appelée
l’id

entité
sur

E
et

se
note

id
E
.

id
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:
E
!

E
x
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x
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c.
Il

n’
y

a
pa

sé
ga

lit
é.

Il
su

ffi
td

’e
xh

ib
er

un
co

nt
re

-e
xe

m
pl

e
po

ur
s’

en
co

nv
ai

nc
re

.
P
ar

ex
em

pl
e,

on
pr

en
d

A
1

=
R
�
,A

2
=

R
+

et
f

:
x
7!

|x
|.

O
n

a
al

or
s

:

•
f
(A

1
\

A
2
)

=
f
(R

�
\

R
+
)

=
f
({

0}
)

=
{0

}
•

f
(A

1
)

=
f
(R

�
)

=
R

+
et

f
(A

2
)

=
f
(R

+
)

=
R

+
.

D
’o

ù
f
(A

1
)
\

f
(A

2
)

=
R

+
\

R
+

=
R

+
.

II
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.
R

es
tr

ic
ti

on

D
éfi

n
it

io
n

So
ie

nt
E

et
F

de
ux

en
se

m
bl

es
et

A
un

e
pa

rt
ie

de
E

.

So
it

f
:
E
!

F
un

e
ap

pl
ic

at
io

n.

•
La

re
st

ri
ct

io
n

de
f

à
A

,n
ot

ée
f

A
,e

st
l’a

pp
lic

at
io

n
de

A
da

ns
F

dé
fin

ie
pa

r
:

f
A

:
A
!

F
x
7!

f
(x

)

•
A

ut
re

m
en

t
di

t,
on

a
:
8x
2

A
,

f
A
(x

)
=

f
(x

)

•
O

n
a

al
or

s
:

Im
f

A
=

f
(A

)

�
So

it
x
2

E
et

A
⇢

E
.

Il
ne

fa
ut

pa
s

co
nf

on
dr

e
le

s
ob

je
ts

f
(x

)
et

f
(A

)
qu

is
on

t
de

na
tu

re
tr

ès
di

ffé
re

nt
e

:

⇥
f
(x

)
es

t
un

él
ém

en
t

de
F

,

⇥
f
(A

)
es

t
un

en
se

m
bl

e
(s

ou
s-

en
se

m
bl

e
de

F
).
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x
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x
2

x
3

x
4

y 1

y 2
y 3

y 4
y 5

y 6

E
F

f

D
iff

ér
en

ce
en

tr
e

ap
p
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ti
on

et
fo

n
ct

io
n
.

•
La

dé
fin

it
io

n
d’

ap
pl

ic
at

io
n

st
ip

ul
e

qu
e

to
ut

él
ém

en
t
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E
ad
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un
e
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iq

ue
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e

pa
r

f
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e
qu
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’é
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:

8x
2

E
,9
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=
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)
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ne
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dr

e
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de
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it
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)
•

Su
r

le
sc
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m
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pr

éc
éd

en
t,
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la

si
gn

ifi
e

qu
e

d’
un

él
ém

en
t

x
i
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rt
fo
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en
t

un
e

flè
ch

e
m

ai
s

se
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em
en

t
un

e.
•

D
an

s
la

dé
fin

it
io

n
de

fo
nc

ti
on

,
on

re
lâ

ch
e

ce
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e
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nt
ra
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te

en
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se
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en
t
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’u

n
él

ém
en

t
x

de
E
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m

et
au

p
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s
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e
im
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e

pa
r

f
.

D
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n
él
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en

t
x
2

E
pe

ut
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s

pa
rt

ir
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flè
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e,
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fin
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en
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.
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e
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:
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se
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e
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dé
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m
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e
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vé
e
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dé
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,
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m
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,s
on

en
se
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bl
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dé
fin
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n.
•
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l’o
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et
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iv
an

t
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f
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!

R
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1 x

es
t
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at
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E
xercice

Soient
f

:
E
7!

F
une

application
et

A
1

et
A

2
des

parties
de

E
.

a.
D

ém
ontrer

que
:
f
(A

1 [
A

2 )
=

f
(A

1 )[
f
(A

2 ).

b.
D

ém
ontrer

que
:
f
(A

1 \
A

2 )⇢
f
(A

1 )\
f
(A

2 ).

c.
A

-t-on
égalité?

D
ém

onstration.
a.

O
n

procède
par

double
inclusion.

(⇢
)

Soit
y
2

f
(A

1 [
A

2 ).
A

lors
ilexiste

x
2

A
1 [

A
2

telque
y

=
f
(x

).
C

ecisignifie
que

x
2

A
1

ou
x
2

A
2 .D

eux
cas

se
présentent

alors
:

⇥
si

x
2

A
1

:alors
on

a
y

=
f
(x

)2
f
(A

1 ).
⇥

si
x
62

A
1

:alors,com
m

e
x
2

A
1 [

A
2 ,on

a
forcém

ent
x
2

A
2 .

O
n

en
déduit

que
y

=
f
(x

)2
f
(A

2 ).
A

insi,
y
2

f
(A

1 [
A

2 ).
(�

)
Soit

y
2

f
(A

1 )[
f
(A

2 ).
C

eci
signifie

que
y
2

f
(A

1 )
ou

y
2

f
(A

2 ).
D

eux
cas

se
présentent

alors
:

⇥
si

y
2

f
(A

1 )
:ilexiste

donc
x
2

A
1

telque
y

=
f
(x

).
O

r
A

1 ⇢
A

1 [
A

2 .A
insi,

x
2

A
1 [

A
2 .

D
’où

y
2

f
(A

1 [
A

2 ).
⇥

si
y
62

f
(A

1 )
:

alors
com

m
e

y
2

f
(A

1 )[
f
(A

2 ),
on

a
forcém

ent
y
2

f
(A

2 ).Ilexiste
donc

x
2

A
2

telque
y

=
f
(x

).
O

r
A

2 ⇢
A

1 [
A

2 .A
insi,

x
2

A
1 [

A
2 .

D
’où

y
2

f
(A

1 [
A

2 ).
A

insi,
y
2

f
(A

1 [
A

2 ).
b.

Soit
y
2

f
(A

1 \
A

2 ).
A

lors
ilexiste

x
2

A
1 \

A
2

telque
y

=
f
(x

).
•

C
om

m
e

A
1 \

A
2 ⇢

A
1 ,on

a
:
x
2

A
1

et
donc

f
(x

)2
f
(A

1 ).
•

D
e

m
êm

e,
A

1 \
A

2 ⇢
A

2 ,et
donc

f
(x

)2
f
(A

2 ).
O

n
en
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que

f
(x

)2
f
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2 ).
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É
galité

d
e

d
eu

x
ap

p
lication

s

•
D

eux
applications

f
:
E

1 !
F

1
et

g
:
E

2 !
F

2
sont

égales
si:

⇥
elles

ont
m

êm
e

ensem
ble

de
départ

:
E

1
=

E
2 ,

⇥
m

êm
e

ensem
ble

d’arrivée
F

1
=

F
2 ,

⇥
et
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:8

x
2

E
1 ,f

(x
)

=
g
(x

).

•
P
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exem
ple,les

objets
f
1
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f
2

suivants
:

f
1

:
R

+
⇤
!

R
+
⇤

x
7!

1x

f
2

:
R
�
⇤
!

R
�
⇤

x
7!

1x

sont
des

applications
différentes
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m
êm

e
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à

l’aide
du

m
êm

e
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x
7!

1x .

D
éfi

n
ition

Soient
E
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F

deux
ensem

bles
et

soit
A
⇢

E
.

Soit
f

:
E
!

F
.

•
L’im

age
(d

irecte)
de
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ble

A
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l’application
f,

notée
f
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),
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l’ensem
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par

f
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élém
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de
A
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utrem
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:

f
(A

)
=

{y
2

F
|9

x
2

A
,

y
=

f
(x

)}
=

{f
(x

)|
x
2

A}
⇢

F

•
E

n
particulier,on

a
:

f
(E

)
=

Im
(f

)

�
Soit

f
:
E
!

F
une

application.Ilne
faut

pas
confondre

:

•
Im

(f
)

l’im
age

de
l’application

f.
(l’ensem

ble
des

im
ages

:
Im

(f
)

=
{
f
(x

)|
x
2

E
})

•
F

l’ensem
ble

d’arrivée
de

l’application
f.
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m
e

déjà
précisé

:
Im

(f
)⇢

F
m

ais
pas

forcém
ent

Im
(f

)
=

F
.
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